' 4 i AR
R TP

1 S 1 2 () A
N e | = 1000 =7 (kg)
1 160000 20 T — 2\ ‘?J‘?P\ 1T = 2}_@_ (km2>

= 1000000 & = = & (m?)
= 10000 =># (a)

= 100 =& (ha)

J




#peskA B @ Pl4

-

¥ 5

1 160000 = 1 = AR

160000 + 1000 = 160 ( = wg )

1 2w (D)
= 1000 = 7

(kg)

1T= 22 (km?)

= 1000000-ﬁf% A
. (a)

= 10000 =
= 100 = *%

<ha>

¥ iih b iR

(m2)




¥ iih b iR

Jpe s T 4 P14
B 57 - 12 (1)
. = 1000 => 7 (k
1 160000 =7 = 160 2wy (kg)

1T 282 (km?2)

= 1000000 L * =~ & (m?)
= 10000 =># (a)

= 100 =2 (ha)

160000 + 1000 = 160 ( = wg )



#peskA B @ Pl4

2 g 5
I im 5 o
-7\"7\‘F]

1 160000 = 1 =

160000 + 1000 = 160 ( =~ wg )

2 2000t=

160

kg

2

1 =#g ()
= 1000 == 7 (kg)
1T 23 (km?)

¥ iih b iR

= 1000000 & = = & (m?)

= 10000 =># (a)
= 100 =2 (ha)




#peskA B @ Pl4

2 g 5
I im 5 o
-7?7\‘?

1 160000 = 7= 160 2wg

160000 + 1000 = 160 ( =~ wg )

2 2000t= kg

1000 x 2000 = 2000000 (kg)

g ()
= 1000 == 7 (kg)
1T 23 (km?)

¥ iih b iR

= 1000000 & = = & (m?)

= 10000 =># (a)
= 100 =2 (ha)




#peskA B @ Pl4

2 g 5
I im 5 o
-7\"7\‘F]

1 160000 = 7= 160 2wg

160000 + 1000 = 160 ( =~ wg )

2 2000t= 2000000 kg

1000 x 2000 = 2000000 (kg)

g ()
= 1000 == 7 (kg)
1T 23 (km?)

¥ iih b iR

= 1000000 & = = & (m?)

= 10000 =># (a)
= 100 =2 (ha)




B ek i P14

2 g 5
I im 5 o
-7\"7\‘F]

1 160000 = 1 =

160000 + 1000 = 160 ( =~ wg )

160

2 2000t= 2000000 kg

1000 x 2000 = 2000000 (kg)

3 12km?=

2

s (1)
— 1000 2= 7 (kg)
1T 232 (km?)

¥ iih b iR

= 1000000 & = = & (m?)

= 10000 =># (a)
= 100 =2 (ha)




ek~ B P14
1 e

1 160000 = 7= 160 2wg

160000 + 1000 = 160 ( =~ wg )

2 2000t= 2000000 kg

1000 x 2000 = 2000000 (kg)

3 12km?= m2

1000000 x 12 = 12000000 (m?)

s (1)
— 1000 2= 7 (kg)
1T 232 (km?)

¥ iih b iR

= 1000000 & = = & (m?)

= 10000 =># (a)
= 100 =2 (ha)




B ek i P14

B s

1 160000 = 7= 160 2wg

160000 + 1000 = 160 ( =~ wg )

2 2000t= 2000000 kg

1000 x 2000 = 2000000 (kg)

3 12km?= 12000000 m?

1000000 x 12 = 12000000 (m?)

=g (1)

— 1000 2 7 (kg)
1= 28 (km?)

= 1000000 el

= 10000 =
= 100 =+

i (a)
<ha>

¥ iih b iR

(m2)




' A i 5 1
e T R PLS

1 SRR 1 2ol (1) A
1 = 1000 == 7 (kg)

‘ 1T 28 (km?)
= AN = 1000000 = = =& (m?2)
= 10000 = (a)

= 100 =2 (ha)

J




FEpesk™ F # Pl4
PPy
- 2

100x 3 = 300 ( 2% )

1 2w (1)
— 1000 2 5 (kg)
1322 (km?)

= 1000000 el

= 10000 %
=100 2%

o (a)
<ha>

¥ iih b iR

(m2)




#peskA B @ Pl4

i

5

‘-—\ ‘.“_Tl\‘*\
o

N
w

P
T2 08 =
Z

100x 3 = 300 ( 2% )

1 2w (1)
— 1000 2 5 (kg)
1322 (km?)

= 1000000 el

= 10000 %
=100 2%

o (a)
<ha>

¥ iih b iR

(m2)




el

~

T~ E # P14
iﬁ*}% o
32 8= 300 o
— /“\ﬁ';’\

100 x 3 =300 ( =% )
10000 x 3 = 30000 ( =@ )

1 =g (1)
= 1000 == 7 (kg)
1T 22 (km?)

¥ iih b iR

= 1000000 & = = & (m?)

= 10000 =># (a)
= 100 =2 (ha)




el

N

B ek i P14
Bg o
3L+ 22= 300 oF

= 30000 =@

100 x 3 =300 ( =% )
10000 x 3 = 30000 ( =@ )

1 =g (1)
= 1000 == 7 (kg)
1T 22 (km?)

¥ iih b iR

= 1000000 & = = & (m?)

= 10000 =># (a)
= 100 =2 (ha)




¥ iih b iR

# etk + T % P14
B F o 1 268 (t)
B _ | =1000 =7 (kg)
4 3L 2>2= 300 - 1T 22 (km?)
= 30000 = = 1000000 * = 2> & (m?)
100x 3 =300 ( =% ) _ 18802 o gy{hS)
10000 x 3 = 30000 ( 2 #.) -

5 278500 & & oy & = AR ] A




¥ iih b iR

e T 8 P14
B 5 o 1 268 (t)
N \ vE :1000 = ’:r <kg>
43T x>2= 300 =g 1= 282 (km?)
= 30000 =3 = 1000000 = 2> & (m?2)
100%3 = 300 ( 2 ) = 10000 = #. (a)

10000 x 3 = 30000 ( =#.) = 100 =% (ha)

5 278500 & & oy & = AR ] A
278500 + 100 = 2785 ( 23




¥ iih b iR

Pk A T 4 Pl4
1 W 2 e (1)
B _ | =1000 =7 (kg)
4 3L 2>2= 300 - 1T 22 (km?)
= 30000 = = 1000000 T =+ = &= (m?)
100%3 = 300 ( 2% ) = 10000 2 # (a)

10000 x 3 = 30000 ( 23) 100 =7F (ha)

5 278500 & & oy & = AR ] A

278500 + 100 = 2785 ( =v#x)
2785+ 100 = 27 --- 85




¥ iih b iR

Pk A T 4 Pl4
1 W 2 e (1)
| _ | =1000 =7 (kg)
4 3L 2>2= 300 - 1T 22 (km?)
= 30000 = = 1000000 T =+ = &= (m?)
100%3 = 300 ( 2% ) = 10000 2 # (a)

10000 x 3 = 30000 ( =#.) = 100 =% (ha)

5 278500 L = > = 27 2B 85 gk

278500 + 100 = 2785 ( =v#x)
2785+ 100 = 27 --- 85




¥ iih b iR

Pk A T 4 Pl4
1 W 2 e (1)
B _ | =1000 =7 (kg)
4 3L 2>2= 300 - 1T 22 (km?)
= 30000 = = 1000000 T =+ = &= (m?)
100%3 = 300 ( 2% ) = 10000 2 # (a)

10000 x 3 = 30000 ( 23) 100 =7F (ha)

5 278500 L = > = 27 2B 85 gk

278500 + 100 = 2785 ( =v#x)
2785+ 100 = 27 --- 85

6 lhad45a= m2




¥ iih b iR

Pk A T 4 Pl4
1 W 2 e (1)
| _ | =1000 =7 (kg)
4 3L 2>2= 300 - 1T 22 (km?)
= 30000 = = 1000000 T =+ = &= (m?)
100%3 = 300 ( 2% ) = 10000 2 # (a)

10000 x 3 = 30000 ( 23) 100 =7F (ha)

5 278500 L = > = 27 2B 85 gk

278500 + 100 = 2785 ( =v#x)
2785+ 100 = 27 --- 85

6 lhad45a= m2

1had45a = 100a + 45a = 145a



el

~

¥ iih b iR

#peskA B @ Pl4

Bg o e (1)
| _ | =1000 =7 (kg)
3= 22= 300 o 1= 282 (km?)
= 30000 =3 = 1000000 & = 2> & (m?2)
100%3 = 300 ( 2 ) = 10000 = #. (a)

10000 x 3 = 30000 ( 23) 100 =7F (ha)

278500 % o~ =x = 27  2F 85 gk

278500 + 100 = 2785 ( =v#x)
2785+ 100 = 27 --- 85

1ha45a= m?2

1ha45a = 100a + 45a = 145a
la = 100m?



el

~

¥ iih b iR

B ek i P14

Bg o e (1)
| _ | =1000 =7 (kg)
3= 22= 300 o 1= 282 (km?)
= 30000 =3 = 1000000 & = 2> & (m?2)
100%3 = 300 ( 2 ) = 10000 = #. (a)

10000 x 3 = 30000 ( 23) 100 =7F (ha)

278500 % o~ =x = 27  2F 85 gk

278500 + 100 = 2785 ( =v#x)
2785+ 100 = 27 --- 85

1had45a= m2

1ha45a = 100a + 45a = 145a
la = 100m?
100 x 145 = 14500 (m?)



el

~

¥ iih b iR

B ek i P14

Bg o e (1)
| _ | =1000 =7 (kg)
3= 22= 300 o 1= 282 (km?)
= 30000 =3 = 1000000 & = 2> & (m?2)
100%3 = 300 ( 2 ) = 10000 = #. (a)

10000 x 3 = 30000 ( 23) 100 =7F (ha)

278500 % o~ =x = 27  2F 85 gk

278500 + 100 = 2785 ( =v#x)
2785+ 100 = 27 --- 85

lhad5a= 14500 m2

1ha45a = 100a + 45a = 145a
la = 100m?
100 x 145 = 14500 (m?)



